The intersection of two linear equations can be
shown on a graph as the intersection of two straight
lines. At the point where the two straight lines meet,
Loth linear equations have the same coordinates.

In this section you will use three methods to find
the point of intersection of linear equations.

To find the intersection of two linear

equations using algebra is to solve the two

equations ‘simultaneously’.

Using graphs
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- Solution

. a The ih{érsectioﬁ:’pbini is

1 State the point of intersection for each of the following pairs of straight lines.
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eis possib\e by hiring the car for $20 less per 4ay than the fixed rate,

A cheaper rat
ts for each Kilometre over 100 km per day-

but paying 25 cen

1 How much dog
Commodore fo

2 How much does it cost 1o hire a Mazda 323
T e

for 7 days at tne iiasss
2 How much does it cost to hire 2
= dave at the cheaper rate?

for B days @
4 Usea graph to find when it1s pest to hire
‘ 2 Mazda 323 using the fixed rate.
o find when itis bestto hire a

Ghia using the fixed rate.

¢ it cost 10 hire a Holden |
¢ 16 days at the fixed rate?

5 Usea grapht
Ford Fairmont

Using the ethod of substitution
To find the point of intersection using the method of substitution is tO put the x ory
terms of one equation into the other equation.

-

 PFind the point of imersec’cion’betweén the
? nsﬁingkthe{me‘thodfefsubstﬁumﬁ;k .

1 Solve the following pairs of linear equations by using the method of ubstitutiot
a@y:x+2and3x+y:6 %:%yzx—BandSXer 17
@y=x+5and5x—y:’1 ‘a%yrx~3and2x—y=7
ey x+3and2x+3y=19 -x~’1and3x+5y:27
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Bx + Q;y 13 and

| Ex&m%as

2 Tind the pbmt 0
Ay 3y=6using

f mtemectmn be’cween the straxght E:mes
the me’thad of ehmmaﬂon; ;

ga»_;«’)u"?ﬁ - iﬂff
- 0.
Mu;mmy the Pquaho'm (11 by 3 and cquation 21 by 2 in order to eliminate
sy =13 .
om0 ?
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subsﬁtute x 3 mto eqﬁa}ti@:m‘m_

To fmd the vaiue of Y y@u

8 2 = =13
94 Zy 13
y 2 Heme the pmm of i m’zem%ﬁ@n is (3, 2}

ba ck into each equahon‘ -

Chegk the emswer by su mm\M

with the correct pair of equations.

it

Match each point of mtersecuon
y+x="3 b 3x—y=1 ¢ 3y+x=3 qd x-y=4
2y—x=3 2x+y=4 2y—x=7 2x+y="0 -
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